ABC oA 4 O &

® 17°

1. o8 1383 Zo] AB = AC ¢l o] 5HAZY
A, A 1= WAHlela, A =38° 4 uf,,OBI ¢ 27|=?
A
38°
O
1
B 1; C
29 33
13° Yo Yo 16°
@ 13 @ 3 @ 5 @ 16

~&B

/BOC =2x/BAC=2x38°="76°
.. LOBC = 52°

(BIC =90° + %ABAC =109°,

1 71
/IBH= - x/ABC = —°
2 % 2

Zx:AOBI=AOBC—£IBH:52°—72—1°:3—23

o




T 2ol A AABC £ B = 90° &1 Hztol 5z R0

/ADB = /BEC = 90° ¢ o, EC 2] Zo|&=?

12em)

@ 3cm @)4cm ® 5cm @ 7cm ® 9cm

AABD ¢} ABCE 9f|A]
/ADB = /BEC = 90°, AB = BC,/ABD = /BCE
AABD = ABCE (RHA &%)

BD =EC
~EC=BE-DE=12-8=4(cm)




th5 I olA A T aABC o] WAloloh W] vhx]52] dol7t
3cm ©]1, AABC 2] Yo]7} 48cm? ¥ W], AABC 2] Ed¢] Zdo]=?

@32cm @ 34cm ® 36cm @ 28cm ® 40cm

B

AABC 9] Ed|¢] Zo]& xcm & oFH
AABCZ%XSX)C=48

oo x = 32(cm)




